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Subject: Physics & Chemistry [Booklet Number]

| Duration : 2 Hours Maximum Marks :100

K- (Instructio:s ) 0 - - \

1. This question paper contains only objective questions divided into two parts (viz. Physics and
| Chemistry), each having three categories.

i Catggury-l (Physics) : Comprises of Q.1 to Q.30 car'rying one mark each, for which only one
option is correct.

Category-I! (Physics) : Comprises of Q.31 to Q.35 carrying two marks each, for which-one option is
correct.

Category-lll (Physics) : Comprises of Q.36 to Q.40 carrying two marks each, for which one or' more
than one options may be correct.

Category-| (Chemistry) : Comprises of Q.41 to Q.70 carrying one mark each, for which only one
F option is correct. :

Category-ll (Chemistry) : Comprises of Q.71 to Q.75 carrying two marks each, for which one
option is correct,
Category-ill (Chemistry) : Comprises of Q.76 to Q.80 carrying two marks each, for which one or
more than one options may be correct.

3. For questions in Category-l or Category-Il, incorrect answers will carry NEGATIVE marks. For l
Category-l, 1/4 mark will be deducted for each wrong answer. For Category-ll,
172 mark will be deducted for each wrong answer.

4. Category-lll questions will not carry any negative mark. Against the number of correct options
indicated, a maximum of two marks will be awarded on pro rata basis. However, marking of any |
wrong option will lead to award of zero mark against the question irrespective of the number of

correct options indicated.

F 5. Questions must be answered on OMR sheet by darkening the appropriate bubble (marked A, B, C, D)
against the question number on the respective left hand columns.

| 6. The OMRs will be processed by electronic means. Hence, invalidation of Answer Sheet due to
folding or putting stray marks on it or any damage to the Answer Sheet as well as
incomplete/incorrect filling of the Answer Sheet will be the sole responsibility of the candidate.

7. Answers without any response will be awarded zero mark. For Category-l or Category-ll, more
than one response will be treated as incorrect answer and negative marks will be awarded for
the same. : | ‘

8. Write your roll number, name and question bookiet number only at the specified locations of the
OMR.

l 9. Use only Black/Blue Ball Point Pen to mark the answers by cnmpleie filling up of the respective
bubbles.

10. Mobile phones, Calculators, Slide Rules, Log Tables and Electronic Watches with facilities of
Calculator, Charts, Graph sheets or any other form of Tables are NOT allowed in the
examination hall. Possession of such devices during the examinations shall lead to cancellation of
the paper besides seizing of the same.

11. Mark the answers only in the space provided. Please do not make any stray mark on the OMR.

r 12. Rough work must be dope on the question paper itself. Additional blank pages are given at the * '

end of the question paper for rough work.

13. This question paper contains 32 printed pages including pages for rough work. Please check all
pages and report, if there is any discrepancy.

_ Hand over the OMR to the Invigilator before leaving the Examination Hall. J
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PHYSILCS

Category 1(Q1 to Q30)

Each question has one correct option and carries 1 mark, for each wrong answer -
1/4 mark will be deducted.

5T AT GTE STF X Qe AT AT 1, §OT SO T 1/4 T IO WA
A straight conductor 0.1m long moves in a uniform magnetic field 0.1T. The velocity of the

conductor is 15 m/s and is directed perpendicular to the field. The e.m.f. induced between the
two ends of the conductor is

(A) 0.10V ' (B) 0.15V (C) 1.50V (D) 15.00V

0.1m TRGRIFE wafE we AR 0.17 3 BIES ($TA 15 m/s @5t BeTCR | Wethd ords WIS
S T I SR | FHI0A 7R AT6ET Weds SfE Sfpwhrerd 361 I

(A) 0.10V () 0.15V (C) 1.50V (D) 15.00 V

A ray of light is incident at an angle i on a glass slab of refractive index p. The angle between
reflected #nd refracted light is 90°.Then the relationship between iand uis

(A) i = tan~} (%) (B) tani = u (C)sini=p (D) cosi =

3 SIETaty | @ GJTs FI6A TR T IAfES X Feea AfeaE u |
sifswfere af vas afenfae I Ty @1 90° 20T i3 p g Y7Ey 3o 3@

(A) i = tan™? (ﬁ) (B)tani = p (C) sini = p (D) cosi = p

Two particles A and B are moving as shown in the figure. Their total angular momentum about the
point Ois :

(A) 9.8 kg m’/s (B) Zero (C) 52.7 kg m’/s (D) 37.9 kg m*/s
G5kg 2.2mfs
3.6m/s
3
o 3

75 I8 A 93 B fra ffe o5 SFIIA BemE | 0 R AITTS G (NG TP

[CT [CR 1G] 1
(A) 9.8kgm’/s (B) T (C) 52.7 kg m’/s. (D) 37.9 kg m’/s
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Two particles of mass m, and m,, approach each other due to their mutual gravitational attraction
only. Then '

(A) accelerations of both the particles are equal.
(B) acceleration of the particle of mass m, is proportional to m;.
(C) acceleration of the particle of mass my is proportional to m,.

(D) acceleration of the particle of mass m, is inversely proportional to m,.

10 3@, AT G my B m,, @ NI ARART T T ST G TN B s
Z00% | O 3t

(A) COWR FICI NI AW 3@

(B) m,STHA IFINBT Ga9 m, 97 SMIgo11fss 3@
(C) m, SR IJFNTT T4 m, 9F I NTSs 3@
(D) myCHR IFFNTT 929 m, 47 IWAFST 37

Three bodies of the same material and having masses m, m and 3m are at temperatures 40°C,
50°C and 60°C respectively. If the bodies are brought in thermal contact, the final tem perature will
be

~ (A)45°C (B) 54°C (C) 52°C (D) 48°C

fomfl W TAMI 51f¥® 387 ©F TITFE m, m 3 3m e SITE BIomTar T 40°C, 50°C
860C | 78 fofiee st ssamst st e, iy sremmal 3@

(A) 45°C (B) 54°C : (C) 52°C (D) 48°C

A satellite has kinetic energy K, potential energy ¥ and total energy £. Which of the following
statements is true?

(A) K = V)2 (B)K = V/2 (C)E = K/2 (D) E = —K/2

93fC Soeea sifisrifs K, o v uas ot s £zt Trse @I Geaft Afdw?

(A K = —V/2 (B)K = V/2 (Q)E =K/2 (D)E = —K/2
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11

A 20 cm long capillary tube is dipped vertically in water and the liquid rises upto 10 cm. If the
entire system is kept in a freely falling platform, the length of water column in the tube will be

(A) 5cm (B) 10 cm (C) 15 cm (D) 20 cm

20 cm &1 GG (fF 76 SEF BT SHET (SIRIAT 367 G392 BIT® O 10 cm Goel | SN
T[AFIT @G TUIRF o7 ABrora SAT AT X FLER NH SEd SHol @ -

(A) 5 cm (B) 10 cm (C) 15 cm (D) 20cm

A train is moving with a uniform speed of 33 m/sand an observer is approaching the train with the
same speed. If the train blows a whistle of frequency 1000 Hz and the velocity of sound is 333
m/s, then the apparent frequency of the sound that the observer hears is

(A) 1220 Hz (B) 1099 Hz (C) 1110 Hz (D) 1200 Hz

9B GF 33 m/s NI BeMR €32 OF3 @ 9FSH s e e e P
@GAf6 1000 Hz F=oTCE 11 ASHCE SREHT @ SIS T TCTTW ©f 3 (IO
rag Sifetdst 333 m/s )

(A) 1220 Hz (B) 1099 Hz . (C) 1110 Hz (D) 1200 Hz

A photon of wavelength 300 nm interacts with a stationary hydrogen atom in ground state. During
the interaction, whole energy of the photon is transferred to the electron of the atom. State
which possibility is correct. (Consider, Plank constant=4x10"eVs, velocity of light=3x10’m/s,
jonization energy of hydrogen=13.6eV)

(A) Electron will be knocked out of the atom
(B) Electron will go to any excited state of the atom
(C) Electron will go only to first excited state of the atom

(D) Electron will keep orbiting in the ground state of atom

300 nm SAEOTLE QG SETs I Fa SR A @0 JROGIS AY 7
e ciiffe 3 fufafis serErafem T AT Toe (271F $3F = 4x1077eVs,
ST SRSt = 3x10°m/s, TRCGITSH - 97 W e = 13.6eV)

(A) RTEFGATG RACGISH 3] QA {7390 I

(B) SEREATE WG Ir6Te ( (1T SIS FCF I
(€) 3TERATG fad Sriis F0F AR

(D) RCETRGATD o SIS FTF T
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10. - An-object is located 4 m from the first of two thln cunverging IEHSBS of focal Iengths 2mand 1 m
- réspectively.’ The lenses are sepamted by 3 m. The final image formed by the second lens Is
located from the source at a distance of’ :

(A) 8.0 m (B) 7.5 m (C)6.0m (D) 6.5 m

ﬁﬁm"m@is?fmﬁwmmmzﬁme 1 m 932 St 3 m TN HTZ| AN
(EISE (AT 4 m GG 90 I8 TR | %@ﬂmmﬁ—ma‘ﬁsﬁvﬁi‘wmm
HATY ARE SF T

(A)8.0m (B)7.5m (C) 6.0m (D)6.5m

11.  Asimple pendulum of length L swings in a vertical plane. The tension of the string when it makes
-an angle @with the vertical and the bob uf mass moves wuth a speed vis (g s the grawtatmnal

-acceleration).
(A) mv3/L - - ' (B) mg cos@ +mv?/L
(C) mg cos 8 — mv?/L (D) mg cos @

TER B ol GG Sae crieriad oafs L1 afk B SIREIeR eNs (riendd QI
@m0 w0 WaR m o Prefls Qe TN v W, W[ el i 3 (Sifews g1 g)

(A) mv?/L | | (B) ing cos 8 + mv?/L
(C) mg cos 8 — mv?/L (D) mg cos8

12, The length of a.metal wire is L; when the tension is 7; and L; when the tension is T3 The
unstretched length of the wire'is

W=z (®)yIslz Gl = L

@3 GBI 75 T, G AT L, 932 T, B I L, | @ BIF A1 Aetet Stafba s @

(Al":’{—l"" (8) yL;La {QI{%LT.:.:LL! ( JTz:rf-r.h
=i a+0;
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13. Particle A moves along X-axis with a uniform velocity of magnitude 10 m/s, Particle B moves with
uniform velocity 20 m/s along a direction making an angle of 60° with the positive direction of
X-axis as shown in the figure. The relative velocity of B with respect to that of A is

(A) 10 m/s along X-axis :

(B) 10¢3 m/s along Y-axis (perpendicular to X-axis)

(C) 105 m/s along the bisection of the velocities of Aand B
(D) 30 m/s along negative X-axis

fﬁé&
B

c0°
A 10mfe

QTFC I A X-S75F IGITF 10 m/s FTHCICST GANTA | IEST B 20 m/'s FNTITST X-SICRA
5 60° @1t vemte (ot ) | A-F TS B I (I I

(A) 10 m/s, X-T% IAQT _

(B) 10V3 m/s, .Y~ JAIIA (X - TTHA A% SPAGIA)
(C) 10V5 m/s, A 3 B I TSI W17 4GF IAE

(D) 30 m/s, X-SICHT IS v 3T |

14. When light is refracted from a surface, which of its following physical parameters does not

change? ‘
(A) velocity (B) amplitude . {C) frequency (D) wavelength

ot S AR @ 9T o afevve e Fafifie @R e Aft wfrice
A7

(A) STITeTE @9 () TITETIPRAEA BT

{C_} SEFoaEd ATF ‘ : (D) GGG [44 L @ﬂ'ﬁtﬁiﬁ

15. A solid maintained at t," C is kept in an evacuated chamber at temperature t;°C (t; » ty).
The rate of heat absorbed by the body is proportional to

(A) t* —t,* (B) (t,* + 273) — (t,* + 273)
Ct—14 (D) t,2 — ty?

t,° ¢ Srava s @ 3T W@ t,°C (t; » ) ST (1R IR FCF 141 30T A6
s T T G AR O TR FaEd o Fnfafis affig S eTieT 39

(A) t,* — t,* (B) (t,* + 273) — (t,* + 273)
(C)t, — t; (D) t,% — t4°
s PC1 7/32
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16,

17.

The line AA’ is on a charged infinite conducting plane which is perpendicular to the plane of the
paper. The plane has a surface density of charge o and B is a ball of mass m with a like charge of

' magnitude g. B is connected by a string from a point on the line AA’. The tangerit of the angle (6)
" formed between the line AA" and the string is:

) s (8) e 0 (0) 2=
A
F '
'y

T e Smeid sRi¥e WIfh =iy SftoiRe FAfRd smewr S99 AA 3fo
TR | SREOIRGOTR AN SoMfaE 97 o | AN @R P R (e m &3 RfE
9qe aﬁmquwﬁ—tﬂﬁmeqﬁqmﬁmwml AA' YT
8 Hrolfod Ty SWH & @I (6) tan TX

A= (8) =L (€ == (D) X2

2€omg 4negmyg 2negmg

The current 7 in the circuit shown is

(Ai 133A (B) Zero (C) 2.00A (D) 1.00A

ot
w .|.__ : o
TfFe I8Afore ofos 47z 7 3@
(A) 1.33A (8) [ (C) 2.00A (D) 1.00A
PC1 8/32 et

gcollegeduniaa

T



18,

19.

20.

‘Bluck_B lying on a table weighs W. The coefficient of static friction between the block and the
table is pu. Assume that the cord between B and the knot is horizontal. The maximum weight of the
block A for which the system will be stationary is

(A) =22 (B) uW tan @ (C)uWvIFtan?@ (D) uWsin@
B 4
(%)
(a]

W STEe 9ofb 7 B 9315 GReew $og wiem) GRer o 3ot T frs w4 garE ) 3ot

Sieg (fora awffe) sror Bt /s 8 w=f el srefis | swe a1t fa A0S 5@
A FH0F FREE @ ©F 306 ANE

(A) “”3“” (B) uW tan 8 (C) uWy1+tanZ@ (D) uW sin®

The inputs to the digital circuit are shown below. The output Y is,

(A) A+B+C (8) (4 + B)C (C©VA+B+C D)A+B+C

AT o1 @fG fGReG1eT 3671 3790 @fer orart sry | @8 I6NT SIBHA[S v 2@

(A) A+B+C (B) (A + B)C CQA+B+C B)A+B+C

Two particles A and B having different masses are projected from a tower with same speed.
A is projected vertically upward and B vertically downward. On reaching the ground

(A) velocity of A is greater than that of B.

(B) velocity of B is greater than that of A.

(C) both A and B attain the same velocity.

(D) the particle with the larger mass attains higher velocity.

Q@G B®A $#4F AT M GEA TG B A G B @ I3 AT sifere TEw od
TYEFW G @ b (RIS 2e7) Gt =onf Farg o

(A) A-9F @51 > B-9F @9
(B) B-49 (I51 > A-4F (5t
(C) A-97 @ = B-9F (5
(D) @M ©aw .o wet @ 1)
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21. A hollow sphere of external radius R and thickness ¢ (< R) is made of a metal of density p. The
sphere will float in water if

R R R R
L - =< — gt i

aﬁﬁrﬁfwmrﬂma&zﬁmfﬂ‘ﬂaa @¥ t (K R) | 91907 999 p | oA wicer
SR AT S AT TS0 567

R

{A)t'sp

R R R
(Bt <> Ot (D)t 22

22. A metal wire of circular cross-section has a resistance R;. The wire is now stretched without
breaking so that its length is- doubled and the density is assumed to remain the same. If the
resistance of the wire now becomes R, then R, : R, is

(A) 1:1 (B) 1:2 (C)4:1 (D) 1:4

9FfT JOIT Axeomn [(FIR 4167 1R @ R, | 71 frs ot @ oifrs 3t 1 s
orfba s fas) @71 9QE @lAEet ARIST 7 1 ofRfSe @ af R, =W ow
Rzi Rlﬂq y

(A) 1:1 (B) 1:2 (C) 4:1 (D) 1:4

23, Assume that each diode shown in the figure has a forward bias resistance of 5002 and an infinite
reverse bias resistance. The current through the resistance 150Q is

(A} 0.66 A (B) 0.05 A (C) Zero (D) 0.04 A

| I 00
'3 1000

vy 1500
J:_ AV WV —

fora amife 36AITe SIS A7 =8 IET @R 500 932 Ao I @Y 6T 1500
@Y vy ey SfoR 2ar 2@

(A) 0.66 A (B) 0.05 A (C) *Is (D) 0.04 A
PC1 10/32 =
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26,

27.

The work function of metals is in the range of 2 eV to 5 eV. Find which of the following wavelength

of light cannot be used for photoelectric effect. (Consider, Plank constant=4x10"eVs, velocity of
light=3x10°m/s )

(A) 510 nm (B) 650 nm (C) 400 nm (D) 570 nm

(@I 916 I T SCAFF 2 eV - 5 eV AWK G NS | 6 8T (P ©a%CdTd
e AR S S ofor f@Er 3@ AT 7 (ANF &I = 4x107%evs, IAENT
sTiotast = 3x10%m/s)

(A) 510 nm (B) 650 nm (C) 400 nm (D) 570 nm

A thin plastic sheet of refractive index 1.6 is used to cover one of the slits of a double slit
arrangement. The central point on the screen is now occupied by what would have been the
7™ bright fringe before the plastic was used. If the wavelength of light is 600 nm, what is the
thickness (in um) of the plastic?

(A) 7 (B) 4 (C)8 (D) 6

L6 AfswarE FRE aafh sreat 41083 <t fie vsfs F-wati 3T it @Ry vt
T 25| 97 T AI00F i1, TIER St @G AW AR e it 99 o7 @FwEH
SIRFIE T3 | I T B35 orls 600 nm W G AP0 AMod @ (um Q) @

(A) 7 (B) 4 (C) 8 (D) 6

The length of an open organ pipe is twice the length of another closed organ pipe. The
fundamental frequency of the open pipe is 100 Hz. The frequency of the third harmonic of the
closed pipe is

(A) 100 Hz (B) 200 Hz (C) 300 Hz (D) 150 Hz

ﬁ'wmaﬁwm Sy QBT LY CAETT AETd redha fagr| g3y CUet Jeel
ToR{GER F=AIT% 100 Hz TCET, QY (V1T AT GO ST F2ATF 30

(A) 100 Hz (B) 200 Hz , (C) 300 Hz (D) 150 Hz

A 5 uF capacitor is connected in series with a 10 pF capacitor. When a 300 Volt potential
difference is applied across this combination, the total energy stored in the capacitors is

(A) 15) " (B)1.51 (C) 0.15J i (D) 0.10 )

5 uF 310 pF YREg =T 4 4IaHE C1 STAIE @Td TN AiSRE 300v f4ed ATen
SR 331 e S 4183 4163 (i 1fes 1fe =@ |

(A) 15 (B) 1.5 (C)0.15) (D) 0.10J .
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28.

29.

30.

The r.m.s. speed of oxygen is v at a particular temperature. If the temperature is doubled and

oxygen molecules dissociate into oxygen atoms, the r.m.s. speed becomes
(A) v (B) V2v (C) 2v (D) 4v

G e Sremrary SIfRem S99 rm.s. @1 v | Srowrar fasa ger 9ae wfEom Sqsfa
(L NI 0T S r.m.s @5 @

(A) v (B) V2v (C) 2v (D) 4v

Two particles, A and B, having equal charges, after being accelerated through the same potential
difference enter a region of uniform magnetic field and the particles describe circular paths of

radii R, and Ry respectively. The ratio of the masses of A and B is
(A} /R:/R; (B) R,/R; (C) (Ry/R;)? (D) (R2/R,)?

A 3 B TG FIF ST I8N 93 e ot 21l Faifie 307 9ae 93ft 9w @ oo
AT PR | (B UL OIAT IBW R, 3 R, TFIKI J@IF Y AR II0A, A 3 B -9
CRA TS I

(A) JR1/R; (B) Ry/R, (C) (Ry/Ry)? (D) (Rz/R,)*

A large number of particles are placed around the n'rigin, each at a distance R from the origin.

The distance of the center of mass of the system from the origin is
(A) =R (B)<R (C)>R (D)=R

AF o1 RPN @FuY A [ioq fis R Fa0g 9t 71 @afry s 3839 smidy

(A) R -99 59 3@ (B) R -4F JNIF . R-9F /I (RD T
(C) R-499 (& TG 31 (D) R -9Q3 I I R-9F (TP IG @
PC1 12/32 =
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31

32.

33.

L]

Category |l 1 to Q35)

Each question has one correct option and carries 2 marks, for each wrong answer
1/2 mark will be deducted.

Afot e Wl So7 1fde QIe AT9 7Y 2, B9 SO S 1/2 TF IO A

In the circuit shown below, the switch is kept in position ‘a’ for a long time and is then thrown to
position ‘b’. The amplitude of the resulting oscillating current is given by

(A) EJL/C (BYE/R (C) Infinity (D) E/C/L

s }4&
L____f‘“l'i'ﬂ_r

Roca awfe IS 73575 A g €7@ ‘2’ T A T AN 3| BRI Gif b (0 I
2| 97 4@ @ TAR6® Bhee AINRA e 3@ oF f@w

(A) E{L/C (B) E/R (C) ST (D) E{/C/L

A charge q is placed at one corner of a cube. The electric flux through any of the three faces
adjacent to the charge is zero. The flux through any one of the other three faces is

(A) q/3¢€p (B) q/6€g (C) q/12€ (D) q/24¢,

g Wmﬂﬁﬁﬁ%mmaﬁwm%ﬁwmﬁumﬁﬁaﬁ
Rt Brett BRue FITea T 75 | S5 foAfs St (@ (1 IO0S ShHS T NI &
(A) q/3¢€p (B) q/6¢0 (C) q/12¢ (D) q/24¢

Two cells A and B af e.m.f. 2V and 1.5V respectively, are connected as shown in figure through an
external resistance 10Q. The internal resistance of each cell is 5Q. The potential difference
E, and Ej across the terminals of the cells A and B respectively are

(A) E, = 2.0V,Eg = 1.5V (B) E4 = 2.125V, Eg = 1.375V
(C) E, = 1.875V, Ep = 1.625V (D) E, = 1.875V, Eg = 1.375V
ﬂFﬂ'm
| g
Vsq
A G B T SRR THITER SRESIEE 7o TG 2V 3 1.5V 3% 6 IR STewaT @Y 50

| 718 7o 9?6 100 e v fr fHrae A3 Gt IOAIe T FAN IF1 A W3R B

@IE 73 ATET e Aten TIFW E, 8 Ep T

(A)E,=20V,Eg =15V (B) E4 = 2.125V, Eg = 1.375V
(C) E, = 1.875V,Eg = 1.625V - (D) E, = 1.875V, Eg = 1.375V
PC1 13/32
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34,

35.

A cylinder of height A is filled with water and is kept on a block of height 4#/2. The level of water in
the cylinder is kept constant. Four holes numbered 1, 2, 3 and 4 are at the side of the cylinder and
at heights 0, 4/4, /2 and 3h/4 respectively. When all four holes are opened together, the hole
from which wéter will reach farthest distance on the plane PQ is the hole no.

(A) 1 (B) 2 (C)3 (D) 4

h SHe1 QI SErsef T (BISIF #/2 TTHOI QF6 AT TAF AT 26T QIS (BTG T SEH
SoAfroreTa SRE o AU IR TAT 3| (BTG SIMCH 51D & 1, 2, 3 @ 4 (BCST TeTret
AT QYT 0, A/4, h/2 3 3h/4 mmrf’@@%mwwﬁmmﬁﬁmw
PQ BTE 7] T G ABR? ' =

(A) 1 (B) 2 (€)3 (D) 4

. : AT-BT? -
The pressure p, volume V and temperature T for a certain gas are related by p = A :T , where A

and B are constants. The work done by the gas when the temperature changes from T} to T, while
the pressure remains constant; is given by

(A) A(T, — Ty) + B(T,” — T, %) (8) AT-Ty)  B(R-ThY)
Vz.—'ﬁ Vz—Vl
(C) A(T, = Ty) — B(T,* - T %) (D) A(Tz-T%)
Vo=V
_pTe
I ST AWITET 5191 p, SIS ¥ 948 SIWIAl T 93 W08 F°4F p = T, QTANA 4

3 B #3% | 51° & @ sifba sremrat 7, W@ T, FAC0© 3@ Jo I W@

A) A(T, — Ty) + B(T,? - 1,2 A-1y) _ B -1)
(A) A(T; — Ty) + B(Ty* - T,°) (8) P:-F; —
(C) A(T, - Ty) — B(T,* - T;?) (D) A(13-15%)
Vi=V;
PC1 14/32 e
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Category lll (Q36 to Q40}

Each question has one or more correct option(s), choosing which will fetch maximum 2 marks on

pro rata basis. However, choice of any wrong option(s) will fetch zero mark for the question.

oSG 2ATTT 9T a1 eIifis Sad aifde, @t | @afty ar satea wigefes @ LIS 4195 771

36.

7.

38.

11

71 2; 778 9308 o1 Saa qIme A1l 79E @ P

A conducting loop in the form of a circle is placed in a uniform magnetic field with its plane
perpendicular to the direction of the field. An e.m.f. will be induced in the loop if

(A) it is translated-parallel to itself.

(B) it is rotated about one of its diameters.

~(C) it is rotated about its own axis which is parallelr'tn the field.

(D) the loop is deformed from the original shape.

4FfE o ARRIN TSR @I AT GEICFE GTTSIE A 2 IS GEFwFd
T SR eI I | Ml @ () 5@ 39 Wi Sie SfeweEs
A BT A7 )

(A) FERBE HrS7 ATBITCE AT 0T

(8) $OATT o1 Fitew @ WD LT oP% BTN 4Ta (IRTAT R0 - |

() POANT ©fF fATsw =% (I BRFCFA 0 STNRIET ) I (I e

(D) TSANT SFhod B Tt 2CeT

A circular disc rolls on a horizontal floor without slipping and the centre of the disc moves with a
uniform velocity v. Which of the following values the velocity at a point on the rim of the disc can
have?

(A) v (B) - v (C)2v (D) Zero

ﬂﬁmm@ﬂﬂﬂigﬁﬁmmmﬁiﬁﬁmmﬂﬁmmv

STATet QR TR BIehed AREe AfiRkE @F Rva @ fFefaie () @i 28
meq?

(A) v (B)-v (C)2v (D) IS

Consider two particles of different masses. In which of the following situations the heavier of the
two particles will have smaller de Broglie wavelength?

(A) .Both have a free fall through the same height.
(B) Both move with the same kinetic energy.

(C) Both move with the same linear momentum.
(D) Both move with the same speed.

+f6 fox o TN @A =& fFufais (@) @ CFa @1 BEA IFIUR (FLa 18
gstfer Sawr Ay W A7 ,

(A) TEFA G 9% Tevel AT ARSI 4TS A

(B) I®FN fba St e i e

(C) I8t 457 (afiT SASY WA X0

(D) IES {57 TS A e
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39. Two charges +¢q and —q are placed at a distance ‘g’ in a uniform electric field. The dipole moment
of the combination is 2qa(cos8 i + sin @ j), where 8 is the angle between the direction of the
field and the line joining the two charges. Which of the following statement(s) is/are correct?

(A) The torque exerted by the field on the dipole vanishes.
(B) The net force on the dipule vanishes. _
(C) The torque is independent of the choice of coordinates.
(D) The net force is independent of ‘4’.

tq 8~ SINAYF 70 I Gf6 [0 @pFed o ‘o Fa0g A 56| S foa et
@Y QST (9@ S 9 @ IR I g6 T oMo Reve AW 29a(cos 61+
sin@ §) | el @ (@R) I3 (9fT) sfhe? |

(A) RpfeT cva 7T fareed $o47 YT IETT GG IF S|
(B) Wpsfow v =1aT famierd $og 9@ 31 7y |

(C) @ NI FIFIET NANAT So7 fsaer a1

(D) B BT (VTG I 'o'- 97 o7 FSafe a3

40. Find the right condition(s) for Fraunhoffer diffraction due to a single slit.

(A) Source is at infinite distance and the incident beam has converged at the slit.
(B) Source is-near to the slit and the incident beam is parallel.
(C) Source is at infinity and the incident beam is parallel.

(D) Source is near to the slit and the incident beam has converged at the slit. .

GF @IIGH IRER FAIE ARG S AT 15 (5fT) =1

(A) T&T ST HATY 93R Sirifies afsmr aruifiaa v fifere 3@

(B) o1 ez FrastardY @ Soifow AR SIREATeT |

(C) BT SHAW JaTg €L IIfsw afs[og SIS |

(D) S&7 @Ifrag Iy W3 Iifse afrs @aificm T fifers 3|
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41.

42.

43.

45.

CHEMISTRY

Category | (Q41 to 7

Each question has one correct option and carries 1 mark, for each wrong answer
1/4 mark will be deducted.

afsTE ara O Sad AP Qa2 A1 7§ 1, BT O T 1/4 ~¥7 FI0T A

Suphuse the mass of a single Ag atom is ‘m’. Ag metal crystallizes in fcc lattice with unit cell of
length ‘a’. The density of Ag metal in terms of ‘a’ and ‘m’ is
4m 2m m

m
(A) T (B) — (C) ) (D) A

47 9Bf0 Ag  AIANIYE 3SH 'm'| Ag Wﬁ&cﬁﬂﬁﬁ@ﬁlﬁﬁ@lﬂﬁmunﬁ cell -9
s 'a' T B Ag 4Tpfbd 9AY ‘m' G ‘a' [T HPPT FHCT OF AT
2m

4m m
v - D
5 a’ R a’ & a’ & 4a’

m

For the reaction 2 SO; (g) + O; (g) ==250s(g) at 300K, the value of AG® is =690.9R. The equilibrium
constant value for the reaction at that temperature is (R is gas constant)

(A) 10 atm™ (B) 10 atm (C) 10 01

2 50, (g) + 0, (g) = 250,(g) RfFaiba 300K SoIam AG® GT W -690.9R| & GiT@R 93
Rifraifea Sy $533d 17 3@ (R ST 8539 .

(A) 10 atm™  (B)10atm (C) 10 (D)1

At a particular temperature the ratio of equivalent conductance to specific conductance of a
0.01 (N) NaCl solution is

(A) 10°cm® {B) 10’ cm’ (C) 10 cm® (D) 10° cm’

qzfe R BNt 0.01 (N) NaCl G Sl FATR e oHfaatizet 8 st AfRaiRor
AT 261

(A)10°cm’ (8) 10° cm® (C) 10 cm’ (D) 10° cm?

The units of surface tension and viscosity of liquids are respectively

(A kgm's, Nm™ (B) kgsZ, kgm s (C)Nm™ kgms™? (D) kg s, kg ms™
S OO 3 ArFSIA 93 G0 T TP

(A kg mis?, N m”*  (B)kg s? kgm’s™ (C)Nm™ kg ms? (D) kg s, kg ms™
The ratio of volumes of CH;COOH 0.1 (N) to CH;COONa 0.1 (N) required to prepare a buffer
solution of pH 5.74 is (given : pKa of CH;COOH is 4.74)

(A) 10:1 (B) 5:1 (C) 1:5 (D) 1:10

pH 5.74 €7 G316 IRFR HI (OA F4CS 0.1 (N) CH;COOH 1R 0.1 (N) CHsCOONa (3 SIS
@ AT (TITS 303 ©F 277 (7S : CH,COO0H 9 pKa 4.74)

(A) 10:1 (B) 5:1 (€) 1:5 (D) 1:10

PC1 17/32
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46,

47.

Match the ﬂame colours of the alkaline earth metal nlts in the Bunsen hurner

(a) Calcium (p) brick red _

(b} Strontium {(q) apple green -

(c) Barium (r) crimson
(&) a-p, b-r, c-q (8)ar,bpcq (C) a-q, ber, c-p (D) a-p, b-q, c-r
Py sr3ver fFrume acfa s FIA JIGPT 4 AR e ARy =

(a) Ty (p) X&F w717

(b) L=Piam () ST AFS

(c) caferry (r) Bl et
(A) a-p, b-r, c-q (B) a-r, b-p, cq ({-_:) a-q, b-r, c-p (D) a-p, bq, c-r

Extraction of gold (Au) involves the formation of c&rﬁplex_ ions X’ and Y’

Huaéting ' Zn '
Gold ore > HO + X ——> ¥ + Au
' CN, H,0,0, '
X" and Y’ are nespectiwel’vl
(A) Au(CN); and Zn(cNR~ - (B) Au(CN);™ and zn(cNp
(€) Au(CN); and Zn(CN)- (D) Au(CN);-and Zn{CN);
w(Au)mﬁmﬁﬁﬁﬁér QS X' 932 'w@wﬁ |
| o Zn
(AP ———> HO + X' —— 'Y"+Au
CN, H,0, 0, o

X' G 'Y RoT IYTHFW

(A) Au(CN); @ze Zn(CNKT (8) Au(CNJ;- @32 Zn(CN)
(C) AU(CN); 9@q] Zn(CN);‘ | ; (D) AI.I(CN); e Zn(CH);

The atomic.number of cerium (Ce) is 58. The correct electronic configuration of Ce* ion is

(A) Dﬁe}{f1 (B) [Kr]af* (C) (xelaf® (D) [Krjad'

CIRAIT (Ce) NI AR T2 T 367 58 Ce™ SRR Ao Rere Reasdr zor

(A) [Xe)af* (B) [Kr)af! (C) [Xe)af® (D) [Krjad®
PC1 18/32
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49. The reaction of methyltrichloroacetate (Cl;CCO3Me ) with sodium methoxide (NaOMe ) generates
(A) Carbncation (B) Carbene {C} Carbaniun 2 . (D) Carbon radical

e netearcy) anﬂ’ﬁrﬁﬂ (clsccoMe) ° -v:m e ca'rmm ﬁqmis (NaOMe) -q7
- fafruny Sesmw - |

(A) FIRETERA (8) I SNTSE Cic o (o) 3wz

50. Best reagent for nuclear iodination of arumafi; compoundsis
(A) kuc'H_,,cocn; (BIl/CHCN . (C) KI/CH;COOH " '{ﬁ} l/HNO;
syEsoe AR ﬁm SRR S ot S o =
(A) KI/CH,COCH; . (B) Io/CH;CN (C)KI/CHsCOOH . (D) 1/HNO;

. 51. In the Lassaigne’s test for the detection of nitrogen in an organic compound, the appearance of
btue coloured compound is due to :

(A) ferric ferricyanide (B) ferrous ferricyanide
(C) ferric ferrocyanide (D) ferrous ferrocyanide

3G (o AN APt AAsE (Lassafgnes test) WITATY ARG TSR Skl fefar o
Teraef AtstSeoT =0 16 =67 |

(A) FRF FIETRAIRG (B) A FHPIRHIRG
(€) Tl FEPIRIARG (D) (T FEHIRG

52 In the following reaction
g ether
RMgBr +.. HC(OEt); —* Eﬁ" P

The [iroduct ‘Pis

-

(A) RCHO (B) R,CHOEt (C) RsCH (D) RCH(OEL),

Moz Rfenite Rifvasts p 2=
ether !‘J+ |
RMgBr + HC(OEt)y —™ L P

(A) RCHO (B) R;CHOEt [C)RCH .{D) RCH{OEL),

= PC1 19/32
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67.

68.

69,

70.

For the reaction A +2B ='C, the reaction rate is doubled if the concentration of A is duu_hler:l_. The
raie is increased by four times when concentrations of both A and B are increased by four times.

The order of the reaction is

(A)3 | ' (8)0 €1 . (D)2

A+ 28 > C Rfwmita sfstast 5 @9 {fs AR 237 A 7 SITpY 42 B Jfa F47 W 93
Riwata sfew@s 517 @9 35 ATTIT A €72 B SORR 9GY SRBT 3w e 1 7|

Refermfta P enb 3=

b

(A) 3 | (B)0 (€)1 (D)2

At a certain temperature, the value of the slope of the plot of osmotic pressure (n) against
concentration (C in mol Lf") of a certaip polymer.solution.is 291R. The temperature at which
osmotic pressure is measured is (R is gas constant) ' &

(A)271°%C - () 18 °C | (t} 564 K (D) 18K

gl R S el sfmm Ee Siend 519(n) FH 6% (C in mol L)

 erafsatts fdeE NI 291R | (1 B Srmram sifem gt wfsard sfet 9191 330
SR AF(R T $3F) . .

(Ay271°%¢ - (B) 18°C " {€) 564 K (D) 18 K

The rms velocity of.CO gas molecules at 27 °C is- approximately 1000 m/s. For N; molecules at
600 K the rms velocity-is approximately : .

(A) 2000 m/s (8) 1414 m/s (C) 1000 m/s (D) 1500 m/s

27 °C - SIENIAT CO ST WA rms (@5 AT 1000 m/s | 600 K SN N, ST S rms
([QT5I9 W9 [ 41

(A) 2000 m/s (B) 1414 m/s (C) 1000 m/s (D) 1500 m/s

A gas can be liquefied at temperature T and pressure P provided
(A)T=Tcand P <P, (B) T<T¢ and P>P. (C) T>Tc and P>Pc (D) T>Tcand P <P
@ SHRTE SIoMmIaT T 932 51 P (3 BT AfaTs st aiq af

(A) T=Tc 93 P <P, (B) T<T Q3% P>P¢ (C) T>TcARS P>Pe . (D) T>To WL P <P,

PC1 24/32 : > an
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55.

56.

57.

In a mixture, two enantiomers are found to be present in 85% and 15% respectively. The
enantiomeric excess (e, e} is

(A) 85% - ~ (B)15% ™ (C)';'o% (D) 60%

wﬁfﬁﬂmiﬁﬁ?ﬁﬂwmas% Qe 15% Gﬂﬁ—weﬁ'ﬁemﬁﬁm
1435 (enantiomeric excess (e, ) ) 35

(A) 85% (B) 15% (C) 70% (D) 60%

1,4-dimethylbenzene on heating with anhydrous AICl; and HCl produces

(A) 1,2-dimethylbenzene (8} 1,3-dimethylbenzene
(C) 1,2,3-trimethylbenzene (D) Ethylbenzene
1,4-GIRRAEET RRETE SAH AICK 932 HCI 3T ST T30 (o 70
(A) 1,2- TIXfRIRET @fET (B) 1,3- Bi3fARe QfET
(C) 1,2,3- TRMIReT @fS (D) 21351 Q¥

CHO

(:[ OH
CHO

The product of the above reaction is (Unique.set of options is prnvide-'ﬂ for both E'nglish and

Bengali versions)

@mwwm(m\maixmwwmmw
CR3HT TN

CH,OH CHO™
. X . (X
COOCH

COOH

CH,OH i 0"

CDO- EOO"
PC1 21/32
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58.

b1.

Sulphuryl chloride (SO,Cl,) reacts with white phosphorus (Ps) to give

(A) PCls, SO, (B) OPCl,, SOCI; {C) PCls, SOy, S,Cl; (D) OPClg, SO, S:Cl;

AT fieT @IARG (50,C),) WAL T PrTATH (P,) Rferain Sest sl et 21

(C) PCls, SO,, S;Cl, (D) OPCl3, SO,, S,Cl,

(A) PCls, SO, (B) OPCl3, SOCI,

The number of lone pair of electrons on the central atoms of H;O, SnCl;, PCl; and XeF;
respectively, are : k : .-

(A)2,1,1,3 (8)2,2,1,3 (€)3,1,1,2 (D)2,1,2,3
H0, SnCl,, PCl; €% XeF, GNTS (TR RN Sofa 5omr CTRGH (SITGa AU ZoT

(A)2,1,1,3 (B8)2,2,1,3 (€)3,1,1,2 (D)}2,1,2,3
"Consider the following salts: NaCl, HgCl,, Hg,Cl;, CuCly, CuCl and AgCl. identify the correct set of

insoluble salts in water.

(B) HgCly, CuCl, AgCl
(D) Hg,Cl,, CuCl, NaCl

(A) HgCl;, CuCl, AgCl
(C) Hg,Cl,, CuCly, AgCl

NaCl, HgCl, Hg:Cly, CuCly, CuCl Q38 AgCl a1Rers] ferar ey wicet s=ofof Sruair erreresfer zer

{A) HE;CI;, Cu(l, AgCl
(C) Hg;Cl,, CuCl;, AgCl

(B) HgCl,, CuCl, AgCl
(ﬂ} HEzClg, CﬁCL NaCl
In the following compound, the number of ‘sp’ h‘ybridlzed carbon is

CH;=C=CH-CH-C= CH
|

CN
(A) 2 (8)3 (C)4 (D)5
Tresa Asifbrs af #Rw ('sp' hybridized ) I FLUW 527
CH1= C= CH—CH—CE CH
I
CN
(A) 2 (B)3 (C)4 (D)5
PC1 22/32 =
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62.

63.

64.

65.

66.

The dispersed phase and dispersion medium of fog respectively are

(A) solid, liquid (B) liquid, 'quuid (C) liguid, gas (D) gas, liquid
Fara o v 3 f8ig aremw o1 IWEFW
(A) S5, BaT (B) ©FET, ©IT (C) ©FeT, SIS (D) STSTT, BT

The decreasing order of basic character of K,0, BaO, Ca0 and MgO is

(A) K;0 > Ba0 > Ca0 > MgO (B) K;O > Ca0 > BaO > MgO
(C) Mg0 > Ba0 > Ca0 > K,0 (D) MgO > Ca0 > BaO > K;0

K,0, BaO, Ca0 €3¢ MgO -7 FIAIW bftad 3P Y 361

(A) K;0 > BaO > Ca0 > Mg0 (B) K;0 > Ca0 > BaO > MgO
(C) MgO > BaD > Ca0 > K,0 (D) MgO > Ca0 > Ba0 > K;0

In aqueous alkaline solution, two electron reduction of HO ; gives

(A) HO™ (B) H,0 () 0, " Do;

AR FIAT HITT HO ; -ﬂﬁg&%ﬁﬂ?ﬂﬁﬁﬁtﬂt@&ﬁﬁ:ﬂ

(A) HO™ (B) H,0 (C) 0, (D) 0;

Cold ferrous sulphate solution on absorption of NO develops brown colour due to the formation of

(A) paramagnetic [Fe(H;0)s(NO)}ISO, (B) diamagnetic [Fe{H,0)s(N3)]SO,
(C) paramagnetic [Fe(H,0)s(NO3)1(SO4), (D) diamagnetic [Fe(H,0)4(S04)INO;

Moot @y e T ARG SHRG(NO) SfSTTRTT @ Imift 3fa T Seor =,
of Ze -

(A) SATHEIIT [Fe(H,0)s(NO)ISO, (B) SORFIGEI [Fe(H,0)s(Ns)1SO4
(C) STATPEDIT [Fe(H,0)s(NO3)}(SO4); (D) SAATHTIIT [Fe(H,0)4(S04)INO;

Amongst Be, B, Mg and Al the second ionization potential is maximum for
(A) B (B) Be (C) Mg (DAl

Be, B, Mg 93¢ Al -7 785 ot Sigaty =ifewrar ;@ @ 3@ @0 o9 7

(A)B (B) Be Mg (D) Al

PCL 23/32
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The major product of the above reaction is (Unique set of uptmns is pmvided for both English
and Bengali versions) :

@maﬁﬁmwrwﬁﬁﬂm—mm(%mehw@awwmam
Siferet creut oimy) - - -

(a) s (8) /T\/\m

HG
Hy HiC
| CH, - |
o : / (DJ ;(,c/[\/\ﬂr
cl
NH,
—_—
- EtOH
Br

The product of the ahove reaction is (Unique sat of options is provided for ‘both Eﬁgﬁsh and.
Bengali versions) 5 |

@mmﬁm—mmmmnmmm@m‘mm
3T BTy : ‘

NH, cl NH, | NH,
O, 2O =00 ~(C
. Br OEt

NH_z :

PC1 20/32 =
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71.

T4

te ' 1to Q7

Each question has one correct option and carries 2 marks, for each wrong answer
1/2 mark will be deducted. -

mmﬁlmﬁwmm oH1ofy 74T 2, BT GEEA S 1/2 79K II0T I

The total number of aromatic species generated in the following reactions is

. - THF
(i] i: " + SbCl5 {"I =+ Sodium metal ——»

Br HzN

(i) 4+ HO (iv) Q HNO,

(A) zero (B) 2 (C)3 (D) 4
Resa fafrar @ferrs Seom @It ey aromatic species) @ @10 FLUT =

THF
R T o R

B _H H,N

(iii) +  HO (iv) @ HNO,

(A) "I (B) 2 (€)3 D)4

Roasted copper pyrite on smelting with sand produces

(A) FeSiO; as fusible slag and Cu,S as mattee’

(B) CaSiO; as infusible slag and Cu,0 as mattee’
(C) Ca3(PO,); as fusible slag and Cu,S as mattee’
(D) Fe3(PO,); as infusible slag and Cu,5 as mattee’

GfSte T ARARGE I Saafkfore fRoifere sare Sea =

(A) FeSiO; AP FETST SIETIT UTRWeT @2 Cu,S WS WG

(B) CaSiO; AN LT ST 77 YFWET 9FL Cu,0 ANS WIQ
(C) Ca(PO), FITF ZTET SITANT UTZNeT WL Cu,S NS Wiy
(D) Fes(PO,), TINT FRTS ST 7F YIHNET QIS Cu,S FTHF TG

PC1 25/32
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73.

— — ——— =

Addition of sodium thiosulphate solution to a solution of silver nitrate gives X’ as white

precipitate, insoluble in water but soluble in excess thiosulphate solution to give ‘Y’. On boiling in
water, ‘Y’ gives ‘Z’. X', 'Y’ and ‘' respectively, are

(A) Ag,S,03, Na;[Ag(S;05),], Ag:S (B) Ag,S04, Na[Ag(S,0),), Ag,S,
(C) Ag,S5,03, Nas[Ag(S,0)s], AgS (D) Ag;S0;, Nas[Ag(S,;03),), Ag,0

‘wmmwmwmwwwwmm

AT SYTHA(X’) @eﬂa:ﬂﬂﬁ@mmmmaatﬁﬁawﬁ*mv Teom
IRV (F ST IO 7 SAT TN X, ¥, ‘7 T 367

(A) Ag,S,03, Nas[Ag(S,0s),], Ag,S

(B) Ag250,, Na[Ag(S,0;),], Ag,S;
(C) Ag,5,03, Nas[Ag(S,05)s], AgS

(D) Ag;S03, Nas[Ag(S,03),], Ag,0

74. At temperature of 298 K the emf of the foﬂnwin_g electrochemical cell

75.

Agls)|Ag’ (0.1 M) || Zn™*(0.1M) |Zn(s)
will be (given Ey = —1.562 V)

(A)-1.532V (B) -1.503 V (C)1.532v (D)-3.06 V

W—mmmﬁazgsxﬂmemmamm

Ag(s)|Ag" (0.1 M) | | Zn**(0.1M) |Zn(s)
(A7E %y = -1.562 V)

(A)-1.532 v (8)-1.503 V (C}1.532V (D)-3.06 V

For the reaction X,Y,(l) - 2 XY,(g) at 300 K the v

_ alues of AU and AS are 2 kCal and 20 Cal K
respectively. The value of AG for the reaction is

(A) 3400 Cal (8) 3400 Cal ~ (€)-2800 Cal - (D) 2000 Cal
300 K STNTART X,Yo(l) - 2 Xv,(g) Rfafig au age ag 99 17 JATEFW 2 kCal @I 20-Cal K
93 fAfemfta a6 97 w7 39 :
(A)-3400 Cal - (B) 3400 Cal (C)-2800 Cal (D) 2000 Cal
PC1 26/32
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Cat -!Il 76 to ,

Each question has one or more correct nptlun(s},- choosing which will fetch maxlmul:n 2 marks on
pto rata basis. However, choice of any wrong option(s) will fetch zero mark for the question.

#feft arta @s 4t wifte Soa Jive, @it | ek IR s ongfes 3 i Aty 799
TR 2 ; A8 930 Geor Soa Irgrer Arels 7w IR I

76. Within the list shown below, the correct pair of structures of alanine in pH ranges 2-4 and 9-11 is

L H,N* -CH(CH,)cOoH = . k. H,N - CH(CH, )cO;
lIl. H;N* - CH(CH, )CO; | IV. H,N~-CH(CH, JcOH

Aanm- (B) 1, Il ©uum_ (D) 1, IV
SN6 (3T SIRTHIA NCHT 2-4 92 9-11 pH 23T SHIEHATR A5 S157 ol =0

l. H,N* = CH(CH, )COsH | II. H,N—CH(CH, )co;
Ill. H,N* —CH(CH, )cO; IV. H,N-CH(CH, )coH

(A) 1, 11 ‘ (B) 1, I (), (D) Ill, IV

CH,
77. .
O,N

Identify the correct method for the synthesis of the compound shown above from the follnwing
alternatives {Unique set of options is provided for both English and Bengali versions)

A AT HLTIACR S Neoa o7 YT Qe 10 Tafo FoeT 37 (e 8 2wSH
TS SBIAT SSET QI ONE ST (18T HgR)

CHyCH,CH,CH, Gl HNO,
(A) Ald, . W50,
CHyCH,CH,COCl_ _Zn/Hg _ HNO,
(B) AlCl, "HCl/heat H,S0,
CH,CH,CH,COCI HNO, ~ Zn/Hg
(C) AlCl, H,50, HClheat

CH,CH,CH,COC_ KMnO, HNO,
(D) AIC, . OH. H,s0,

PC1 27/32

(]

-

T

collegedunia:

India’s largest Student Review Platform



78,

49,

80.

lonization potential values of noble gases decrease down the group with increase. in atomic size.
Xenon forms binary fluerides by the direct reaction of elements. Identify the correct statement(s)

from below. '

(A) Only the heavier noble gases form such compounds.

(B) It happens because the noble gases have higher ionization energies.

(C) It happens because the compounds are formed with electronegative Iliga nds.
(D) Octet of electrons provide the stable arrangements. '

ARSI St Ifad st 1o e sniei smfiere freg a0 iR XS SFAPA

fafeam 7™ (Xenon) fdie citsr Seom s o T3 / AR e

(A) FeTIa ©Ift Ffder ofter @aner Gt Sesty 323 -
(8) ffsexr aerstfers S smafiwas “fsg oy st =3 | .
(C) SISl GesiTt ferstaa s Atst s15taa Sy Q@ef 33 |

(D) RTTEHTTA SBF I Sy st 3T offea = |

Optical isomerism is exhibited by (ox = oxalate anion; en = ethylenediamine)

(A) cis-[CrCly{ox),)* (B) [Co(en);)**
(C) trans-[CrCly{ox),] > (D) [Co(ox)(en),]*

W@ QI SEP SWRERol 2wl 0, Of T (ox = SIHIETH SR ; en=
FRfTCEEmRE )

(A) cis-[CrCly{ox),]* (B) [Co(en);]**
(C) trans-[CrCly(ox),] * (D) [Co(ox)(en),]*

The increase in rate constant of a chemical reaction with increasing temperature is{are) due to
the fact(s) that

(A) the number of collisions among the reactant molecules increases with increasing temperature,
(B) the activation energy of the reaction decreases with increasing temperature. '
(C) the concentration of the reactant molecules increases with increasing temperature.

(D) the number of reactant molecules acquiring the activation energy increases with increasing
temperature. '

@mmwaﬁmﬁf@mmmmﬁmeww(@%)m

(A) awqmmmw@%ammmqu&:w

(B) Sremiar Ife siex ffwanita sfrmeast «Rs zm7 sty

(C) Sremmrar Jiag Ay fifere @fem sty 3 o
(n}ﬁWWWWqﬁm@mw@%aquﬁam

END OF QUESTION PAPER
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